Complete Class Of Average
All Previous Types Covered



Average(3'ﬁ_\q?f )

Sum of observation(3ddliehel T JIT)

Average(3diNd) = —m—— 0 ¥ ———————
ge( ) No.of observation(3dcllehel I TEAT)

Sum of observation = AverageXNo.of observation




«* Average of consecutive number odd, even orin A.P. / [@YH, TH IAT JH0IAT
CEIGEIREIEG

- 56,7 average = 6 ( Middle number
- 10,12,14,16, 18 average = 14 is average )
->11.13.15,17 average = 14

— 8,16, 24,32,40 average = 24

» Average of 'n’consecutive natural numbers =
first number (a)+last number (1)

2

“ Average of ‘n’ even (HH)numbers = (n+ 1)

< Average of ‘n’ odd (TaH )numbers = n




*14+2434+ i = n(n;l) ; Avg. = (n-;-l)
124 224 BB g s s P = RELNERET) , Avg. = (nt1)@n+1)

6 ’ ' 6
S13+234+334+ e+ 3 = {(n(n + 1)) /2)?

Avg.= n{(n + 1) /2}*
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Average =
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** If the value of each number is increased by the same value 'a’, then the average of all
numbers will also increase by 'a’

uﬁmmarmaﬁﬁﬂm'a'@rmmam AT G&ATIT F T
g fr 'a' & g€ ATTIm|

7

* If the value of each number is decreased by the same value 'a’, then the average of all
numbers will also decrease by ‘a’.
Ife gl AT & Heg H 3T AT 'a' § USTAT AT g, ar gt g&ansit &
3raa #F st 2 fr et gl

** If the value of each number is multiplied by the same value 'a’, then the average of all

numbers will also get multiplied by 'a

uﬁmma:maﬁmm'a'ﬁm%mm% ar gafr
TEAT3HT &7 3ad o ‘a ﬁmna’r:;nmm

\7

** If the value of each numbers Is divided by the same value 'a’, then the average of all
numbers will also get divided by 'a’

IR UAF TEIT & AT F 34 AT o' Y Rena A smar & ar g
TEITHT &1 g o 'a' F [Fnfaa g srwem)




What will be the average of even numbers between 11 and 63 ?
11 3R 63 & &g &I FH J&ITHT ST AT FIT gl ?
(a) 37.5 (b) 47

(c) 42 (d) 37




The average of certain first consecutive even number is 101. Find their
sum ?

[Afad §T & ggel RIAR IH T&AT & 3Ad 101 g1 3T
AT AT R ?

(a) 25,000 (b) 33,600

(c) 10,100 (d) 24,960




If the mean of 5 observations x, x+2, x+4, x+6, x+8 is 11, then the mean
of the last three observation is :

Ife 5 3Adcllhel x, x+2,x+4,Xx+6,x+ 8T 3gad 11 g, ar
(a) 11 (b) 13
(c) 15 (d) 17




If a, b, c,d, e are five consegutive odd n.umbgrs,. their sum is :
I a,b,c,d, e AR 9T AYH F&IT g, ar 3T AT g

(a) 5(a + 4) (b) ==

(c) S(a+b+c+a+e) (d) None of these




The average of a, b and c is 14, average of ¢, d and e is 20, average of e
and f is 25 and average of e and c is 22. Find out the average of a, b, c,
deandf?

A B3IRCH 3Td 148, C, D IR E &1 310 20 g, E
AR F or 3d 25 § 3R E 3R C &7 3f&ad 22 81 A, B, C,
D, E 3R F &T 3d A1d Y ?

(a) 18 (b) 32

(c) 16 (d) 12




The average of five consecutive numbers A, B, C, D and E is 48. What is
the product of Aand E ?

g oPITdR J&IT3T A, B, C, D 3T E & 3Ad 48 g1 A 3R
E T I[SAHel AT X ?

(a) 2000 (b) 2300

(c) 1500 (d) 2400




The average presence of the students in a class on Monday, Tuesday and Wednesday is 40 and
on Wednesday, Thursday, Friday and Saturday is 44, then what is the number of students who
attended the class on Wednesday, If the average number of students on all the six days is 42 ?

AR, AR AR JUaR &l Ueh Fell A SrE 1 3 39iEafad 40 § 3R
TYdR, IEAR, ewaﬂrerﬁarrﬁM% T SUAR &l FaTT H ST ol arel

ST fr T Far & A ot iy twa eI g3 o R 42 §7
(a) 36 (b) 42
(c) 44 (d) 40




Of the three numbers, second is twice the first and is also thrice the third. If the
average of three numbers is 44, what is the largest number?

il FEATIT H F g Igot H QI § 3R AT F A9 g1 Ife e
AT T 3A9d 44 &, df G99 dof T&AT FAT 872

(a)90 (b) 80

(c)72 (d) 100




The average of x,, X,, X3 and x, is 16. Half the sum of x,, x5, x, is 23.
What is the value of x, ?

X1, Xo, X3 3T x4 BT 3GT 16 &1 Xy, X3, X4 BT 3TET AT 23 B
X4 ST HTT JATT H?

(a) 17 (b) 18

(c) 19 (d) 20




The average weight of 8 person increases by 2.5kg when a new person comes in
place of one of them weighing 65kg. What might be the weight of the new person ?

81ﬁ¥{w3ﬁﬂﬁmzsmaam%aawam—aﬁ365%m

golel o TATT G 3TAT g1 AT ITFd Hl doled FAT &I Hohdl g7

(a) 76 kg

(b) 76.5 kg

(c) 85kg

(d) Data inadequate




The average of the 13 numbers is 63. The average of the first 7 numbers is 61. The
average of the last 7 numbers is 67. If 7th number has been removed, find the sum
of 12 numbers ?

13 G&AT3T & 3T 70 g1 9get 7 &I HT 3Ad 61 &1 Aadd 7
EATHT &1 3ad 71 g1 TG 7th A& ger 6ar arar g ar 12 &A13r &
QT AT PISST |

(a) 894

(b) 888

(c) 896

(d) 892




The average of 11 results is 50. If the average of first 6 results is 49 and that of last six
is 52. Find the 6" result ?

11 9RomAT 1 3aa 50 g1 afe ggor 6 aRomAT &1 3aa 49 § 3 dfaA
S: T GROMH 52 & 6 aT IRUMH ATT HY ?

(a) 55 (b) 56

(c)57 (d)53




The average expenditure of a man for the first five months of a year is Rs.5000 and

for the next seven months it is Rs.5400. He saves Rs.2300 during the year. Find his
average monthly income ?

Ueh TCHT &l AT & Ugel Ui Hgladl &l 39d @9 5000 39 g 3T 31910
ard Al & TolT Ig 5400 T9A g1 I a9 o alId 2300 & Fad Hdr
¥ 3gadr raa \afds 3T A Ao 2

(a) Rs.5425
(b) Rs.5446
(c) Rs.5500
(d) Rs.5600




A batsman has a certain average in 11 innings. In the 12" innings, he scores 95 runs
and his average decreases by 5. After the 12™ innings what is his average ?

Ueh doodlal &l 11 Il & veh Afaa daa aar &1 12 aF gy #, 38
95 {oT FATT 3T 3T 3 Ad 5 & A & 3Ar| 12 dF 97 & a1 3T
Aaad FAT 2

(a) 145 (b) 130

(c) 135 (d) 150




A cricketer gives 12.4 runs per wicket. He gives 26 runs and takes 5 wicket in a match
after which his average becomes 12 per wicket. How many wickets had been taken

till the last match ?

U fohaheX 9T fddhe 124 T SAT &1 98 T HAT H 26 T ¢d & 3N Tsh
HT H 5 Qe oiad g [as a1¢ 39T 3daa 12 gfa Qe & Jar g
oo #9 de fahdd [Aede T 3w I 72

(a) 85 (b) 90

(c)65 (d) 72




The average of a batsman after 25™ innings was 56 runs per innings. If after the 26"
innings his average increased by 2 runs, then find his score in the 26 innings ?

25&1’7@%613@6—&3!3{%7%561?9%@%3%26&
qrT & &€ 3THT 3HEd 2 I ¢ 37T, ar 26 df 9y H 31 THR Ad
T ?

(a) 108 (b) 102

(c) 100 (d) 98




The batting average for 40 innings of a cricketer is 50 runs. His highest score is greater than his

lowest score by 172 runs. If these two innings are excluded, the average of the remaining 38
Innings is 48 runs. Find the highest score of the player ?

Ush fohaheT FT 40 9RAT & AT deaara 3ad 50 & &1 39T 3TadH ThIY 35
a8 FH PR 172 @ § 39S g1 39X o7 Il IRl Sl B8 &ar A1 ar v
38 UTRAT &1 3ad 48 & & @S &7 3TIdH ThI ATd hiaA?

(a) 165 (b) 170

(c) 172 (d) 174




31 people went to a restaurant for a dinner party. 23 of them spent 45 rupees in
their dinner and the remaining all spent 40 rupees more than the average
expenditure of 31. What was the total amount they spent?

Ueh 31X 9rer & fav 31 mwm&ﬁmlmﬁ%ﬁm
TS H 45 397 @Y T 3R 9w g & 31 & 399 @ ¥ 40 &9

38 @ fhT | 3% carT WY Hr 5 FHol AR (S1TT) FA1 A ?
(a) 1657 (b) 1550
(c) 1502 (d) 1569




The average of 20 numbers is zero. Of them, at the most, how many
may be greater than zero?

20 &I T AT L &l 397 I, FIH AHeH, fhdd =
T 38 g doha g ?

(a) O (b) 1
(c)10  (d) 19




The average of 8 numbers is 20. The average of first two numbers is 15% and that of

the next three is 21 % If the sixth number be less than the seventh and eighth

numbers by 4 and 7 respectively, then find the eighth number?

8@@ﬁﬂ%2o%lqﬁamﬁwmﬁ15§%mm?ﬁ?ﬁ
wm21§a|mwmmmmmamarz4m7
A g, dr JTedr I&AT ATd HL?

(a) 18 (b) 22

(c) 25 (d) 27




The average score of a class of boys and girls in an examination is A.
The ratio of boys and girls in the class is 3: 1. If the average score of the
boys is A + 1, find the average score of girls ?

Ueh OQIeTT H oIsahl 3 oIsfehal &r 3iad TR A g1 Her H
olgahl 3T oIsfhal & T 39rd 3: 1 g1 3R d8ahl &l JAad
TER A +1 &, o JsRar &7 39d TR AT HI?
(a)A—1 (b) A — 3

(c)A + 1 (d) A + 3




There were 35 students in a hostel. If the number of students increases by 7, the
expenses of the mess increase by Rs.42 per day while the average expenditure
per head decreases by Rs.1. Find the original expenditure of the mess ?

TUeh SIEET H 35 oF | afe o & g&ar 7 @ d¢ ATdr g, ar
MNSTATTT T T g 8T 4 TU §¢ JTdr g, JAafh gfa {7 daa
<Y 1 9T 9T AT gl AT HI HT I JATd HIfST ?

(a) Rs.420 (b) Rs.520

(c) Rs.450 (d) Rs.550




In a class of 120 students, 45% are girls and the
remaining are boys. If the average of the girls’
marks is 54 and that of the boys is 46, what is

the average of the whole class? (CGL PRE
2018)

120 faenfefl & @ar #, 45% osfear 2 IR AW
deso o afe asfeal grRT ura &l &1 39ad 54 @
R ASHI & GIRT YT bl BT 3Ad 46 =, dl gHl
faenfsia g1 9T 3BT BT T FAT B2

(a) 49.8 (b) 49.7

(c) 49.6 (d) 49.5



The average weight of A, B and C1s 64 kgs. [f D
joins, the average weight new 1s 60 kgs. If an-
other person E who 1s 5 kgs heavier than D
replaces A then the average weight of B, C, D
and E become 59 kgs. What is the weight of A?

A, B @21 C =1 37194 9911 64 . © 1afg D oft e g
€ 1 319 3{ra 9o 60 91 . 21 5wt € | 3t uw gEa
=fad E fos 9r D | 5 fn. s1fess § A =1 wfawenfua
FLF G | o7 € a1 B, C, D a1 E = 35 31 59 94

T STt & | A T 9IRS |
(A) S0 kg (B) 53 kg
(C) 55 kg (D) S7kg



The bowling average of a bowler in certain
match 1s 27 runs per wicket. If he takes 6 wick-
ets for 60 runs in his next innings then its bowl-
ing average becomes 25 runs per wicket. Find
the wickets taken by him till last inning.

ot Tieerst =1 3irEa 27 @ ufa fosre ® | af€ g srret ot
H 60 T TF 6 fawe o ¢ | Foras o6 39e oia 25 @
exd

(A) 50 (B) 51

(C) 45 (D) 42



A batsman has an average of 50 runs in his 12
innings. The difference between his maximum
and minimum score 1s 110. If these two innings
are removed his average for 10 innings comes
down to 45. What is his maximum score ?

et aectaTs =1 12 9IfE | 319a @ 50 § | 39 SATeehad
q AaH o T W F A Hw AR 1108 1A T @
it = g2 fe=n st & & 10 oifEi = foru soen siea
45 T A1 € | Sk R 9™ T3 SAfiehad T 9an |

(A) 150 (B) 130

(C) 160 (D) 110



Sachin Tendulkar has a certain average for 11
innings. In the 12th innings he score 120 runs

and thereby increase his average by 5 runs.
His new average 1is :

e dgaAs 1 11 91 1 F9 iEa € | 1291 9t | 96
120 @ 91 €, Toed S9=h 379 5 T 9¢ a1 € | S9aH
T4 3T Fd T2

(A) 60 (B) 62

1)1 60 (D) 66



A cricketer makes some runs in 15 innings.
He makes 85 runs in sixteenth inning and by
this, his average runs exceed by 3. What is the
average of his runs after sixteenth inning?

hehe o U Faerst 4 15 Il § 8 W a9 | 1691 90 |
I 85 W 9 91 3HE SHH! 3Hd @ HAT BA A A
stfrs 21 TR 1 1691 U &% 9% facrest #t siHa W HeE
fFrate ?

(A) 37 (B) 40

(C) 43 (D) 45



Average of 7 consecutive odd number is 31. If
the pervious and next odd number to the 7 odd

number are also included then what will be the
new average.

7 SFATTa faas Semeti = eiea 31 ® afe 31 7 fauw semst
=1 Tyeett 31 37vTelt foram S =1 oft faen foren s, a1 ==t
37T == B ?

(A) 33 (B) 31

(C) 35 (D) 29



The sum of three consecutive even numbers
1s 28 more than the average of these three

numbers. Then the smallest of these three
numbers 1s

a9 SFHETTG 99 TSl SIS 39 a1 9eneTi & ofrEd 9

28 3feer & 1 39 a1 Teeti | § gad ot 9 9qiE’ 2
SSC CGL Mains 2016

(A) 6 (B) 12

(C) 14 (D) 16



The average of 18 numbers 1s 37.5. If six numbers of average x are added to them, then the average of
all the numbers increases by one. The value of X 1s:

18 T3 @1 I 375 21 Afe 6 FEATY TAAFT st x & FF o7 ol weman & oiter war 2,
al 9t @ 3ta # 1 Y geiad) & WrdY 81 X BT HIFT T 27

(a) 42 (b) 40
(c) 38.5 (d)41.5



The average of n numbers is 58. If each of 65%
of the numbers is increased by 16 and each of

the remaining numbers is decreased by 9, then
the new average of the numbers:
(CHSL 2018)

n HEIATHT T 39T 58 §| I 65% TEIATIHT A F Ui T&AT
Hi6aE RATIAT IR ATHFEABH T AT TAF AT ogeTRU
STC A &A1 T A7 iad FI7T gem?

(a) 67.125  (b) 64.75

(c) 65.25 (d) 66.5



The average age of 120 students in a group 1s 13.56years. 35% of the number of students are girls and
the rest are boys. If the ratio of the average age of boys and girls 1s 6:5, then what 1s the average age (
in years ) of the girls?

Us e § 120 fenf¥fay & sitwa ang 1356 aV 2| Renffay @ W@ a1 35% asfear sk drehr

de® ¥ | aft ded IR asfral ) sitaa sy &1 auE 6 - 5 2, A wsfeal @ atwa sy (Y A)
1 2?

(a) 10 (b) 12
(c)11.6 (d) 14.4



The average weight of a certain number of students in a group is 72 kg. If 10 students having an
average weight of 78 kg leave and 4 students having an average weight of 80 kg join the group, the
average weight of the students in the decreases by 0.7 kg. The number of students initially in the
group is:

Tsh HHg H OFE & U Afad & &1 Aad a9 72 [Feena g1 3R 10 8 fSeehr
HEa aad 78 f[FARTA £ B8 I J1d & AR 4 T [Saar 3daa aa 80 fFaeans &

AT AT A8, AN SE F1 A gt 0.7 Fellamd FA g ST 81 FHg A Y€ A SE)
$r &I &

(a) 44 (b) 46

(c) 54 (d) 56



The average weight of the students in a group
75.4 kg. Later on, four students having weights
72.9 kg, 73.8 kg, 79.5 kg and 87.4 kg joined the
group. As a result, the average weight of all the
students in the group increased by 240 gm. What
was the number of students in the group
initially? (CPO 2018)

U §HE A faeanf¥ar &1 3ad aore 75.4 kg UT| &€ # 72.9
kg, 73.8 kg, 79.5 kg X 87.4 kg ToI=1 aTeX 4 Fagardt wog #
nfAe gt e | aRomATawT, THE F Wt Rgnfiwt #1 sitwa
qolel 240gm ¢ IAT| YRH A WA A Ryt i ge
fraeT o2

(a) 46 (b) 36
(c) SO (d) 48



The average of 33 numbers is 74. The average of the first 17 numbers is 72.8 and that of the last 17

numbers is 77.2. If the 17™ number is excluded, then what will be the average of the remaining
numbers (correct to one decimal place)?

33 HEATHT T A 7481 Ugel 17 GEATHT &I 3Aad 72.88 3R AfAH 17 G&ITHT FHr
Aaa 77.281 ¢ 1787 &A1 F S8 Q@M 34T &, dF AY FEIA3T F1 HEd (TH SAHAd
T & foIT Hal) a1 grem?

(a) 72.9 (b) 71.6

(c) 70.8 (d) 73.4



The number of students 1n a class 1s 75, out of which 33;-% are boys and the rest are girls. The average

score 1n mathematics of the boys i1s 66%% more than that of the girls. If the average score of all the

students 1s 66, then the average score of the girls 1s:
T D H BT D1 A 75 ¢, SR 8 332% TSH ¢ 3R bl T8fehdi €1 ag bl & ford # s
3ich STl BT Garl H 66-% 3Hih 81 afe T ST b1 37 TR 66 8, il ASfdhdl BT 3d

TR §:

(a) 58 (b) 55
(c) 52 (d) 54



The average of thirteen numbers is 47. The average of the first three numbers 1s 39
and that of next seven numbers 1s 49. The 11%* number is two times the 12th number

and 12t number is 3 less than the 13" number. What i1s the average of 11th and
13th numbers?

g GBAT3Ml BT 3 d 47 o1 Ugdl aid TBH13{i &1 319d 39 © 3R 3Tl JId GBS &1 31d
4981 11 TG 12 FAGBN AN AR 12 FBM 13 A TN 3 HA 81 11 df 3R
13 df @13} BT 3 d 1 82

(a) 57 (b) 54.5

(c) 56 (d) 55.5



. The average age of 24 students is 15.5 years. The age of the teacher is 24 years
more than the average age of all the students and teacher. What is the age (in years)
of the teacher?

24 faenfai @1 3fgd g 155 au 2| fRerd @1 amyg, i et ik Ried &1 siga oy ¥ 24 ad
s ¥ | Riere @ oy (@st ) R 27

(a) 40 (b) 41.4 (c) 42 (d) 40.5




. The average of twelve numbers is 58. The average of the first five numbers is 56 and
the average of the next four numbers is 60. The 10t number is 4 more than the 11th

number is one less than the 12tk number. What is the average of the 10t and 12tk
numbers?

dNE IR BT 3Id 58 & | USall Ui GEI3N BT 3Td 56 3R Wil IR G131 T 3rad 60 & | 1041
AT 191 AT 9§ 4 AP 8 MR 1191 =7 1241 G&=IT 9 1 HH 2 | 10d] 3R 1241 G&AT FT d o1

BIfSTY |
(a) 58.5 (b) 59.5 (c) 59 (d) 58




. The average of 19 numbers is 22.8. The average of the first ten numbers is 18.4 and
that of the last ten numbers is 28.6. If the 10t number is excluded from the given
numbers, then what is the average of the remaining numbers? (Your answer should
be nearest to an integer.)

19 3 &1 3T 22.8 B | Uil o0 GIRI PT 39d 18.4 3R 3ifow g9 Gl &1 3iad 286 & | IS
&1 T8GRl H W 10d] W& &1 gl faar S, dl 9 Eie BT SEd T B8R (3MUYdT IR YUl B
frpean &= arfav)

(a) 21 (b) 23 (c) 22 (d) 20




. A batsman scores 92 runs in his 15" innings, which increases his
batting average by 4. What will be his batting average after the 15"
innings?
U dootdlal 1541 TR H 92 39 4911 &, T IWad 3id § 4 &1 gfg 8 Sl 2| 1541 Ul & 418 IHBT
iraa @ 87

(a) 32 (b) 36
(c) 40 (d)35



The average score of 42 students in a test is 69. The ratio of the number
of boys to that of girls is 10 : 11. The average score of the boys is 20%
more than that of the girls. The average score of the boys is:

U TRIeT H 42 fenfai & Sfd Ui 69 € | AAedi Dl FEAT BT Tefbdl &I [T I IAJATd 10 : 11

g | ISPl & IId Ui sihdl & ur<idl o ot 4 20% ifWd 2| Fsdhi & AId Ui $id
PR |

(a) 73.5 (b) 75.2 (c) 82.8 (d) 75.6




. The average of eleven numbers is 68. The average of the first four
numbers is 78 and that of the next four numbers is 63. The 9" number
is two times the 11" number and the 10" number is 4 less than the 11

number. What is the average of the 9" and 11*" numbers?

YRE IR &1 3d 68 2 | Ugall IR HEIRI &1 3iHd 78 IR IWA 3Tell IR HAR3I $HT 3fAd 63
g | 9df |&dr 1141 |&ar | QR @ 3R 1041 A1 191 W1 ¥ 4 B 2| 9odi IR 11 A &1 oftd
ST DI |

(a) 72.6 (b) 70.1 (c) 72.2 (d) 70.5



. The average weight of the boys in a class is 69.3 kg and and that of the
girls in the same class is 59.4. If the average weight of all the boys and

girls in the class is 63.8 kg, then the percentage of the number of boys

in the class is:

U el | Tedl DT JrTd Ioi+ 69.3 fhUT & 3R I FH&m # orefbdl &1 Ifrad a4 594 fhur g1 afe
HeT H T dShl R TSl Bl IJad duld 63.8 fHUT 8, O Pell H Tsdi I AT BT Uaerd fha-n
=1y

(a) 44% (b) 55§ (c) 45 (d) 40




The average of n observation is 40. If one observation of value 80 is
added, then the average of all the observation is 41. What is the value of
n?

N GYJETUT BT 3iTAd 40 & | Ife b wideror o 7191 80 &, Sfiel fdar Sirar & df ) gidequl &1 aitad
41 B SI1dl 2 | N &1 A1 S SIS |

(a) 43 (b) 38 (c) 40 (d) 39




The average of ten numbers is 72. The average of the first four numbers
is 69 and that of the next three numbers is 74. The 8" number is 6 more
than the 9*" number and 12 more than the 10" number. What is the

average of the 8" and 9" numbers?
o9 AR BT T 72 & | Ugall IR G&IRll &l 3Iad 69 3R 3Tl diF A1l &l 3dd 74 & | 8di
GT, 9] AT | 6 3P & 3R 1047 =T A 12 AfSd 2| 841 3R 9d T&AT BT IHd FT 27

(a) 76 (b) 76.5 (c) 77.5 (d) 77




The average of n numbers is 42. If 75% of the numbers are increased by 4 each and the
remaining numbers are decreased by 8 each, then what is the average of the numbers, so
obtained?

N H&I13T &1 3ATFd 42 € IS 75% G181 A A UAD H 4 DI gig 1 Al 8 IR A9 ©

H8®

HHI DI

(a) 42.5

dr g d

g%l Cxe M

(b) 43.8

T

3 P

(c) 43

Ik

d 4

'8\|l?

(d) 44

R H 9 udd




The average weight of some students in a class was 60.5 kg. When 8 students, whose
average weight was 65 kg, joined the class, then the average weight of all the students
increased by 0.9 kg. The number of students in the class, initially, was:

Udh hell H o [qenf2di &1 3id a9 60.5 fdhell 8 | 919 65 fdbur 3iad aoi+ drel 8 faenfl ser 4 wnfae
gid &, a9 | faenfdial & ofiad ao@ # 0.9 fbur &t gfg &1 S & | wen # faenfdial &) skfve wamn

fhar ofi?
(a) 32 (b) 37 (c) 42 (d) 40



The average run rate of a cricket team during the first 20 overs is 4.5. What should be the
asking rate per over for the next 30 overs, if it has to chase a target of 282 runs in total?

®el 20 AR & SR Udb fhdwe &M &1 fd 9 ¥ 4.5 2| afd 30 J9 Siidd & oY &l 282 39 991
g, I 3Tl 30 3R & forg ufd ffar 39 ¥e @1 8 =iy |

(a) 6.8 (b) 6.3 (c) 6.0 (d) 6.4




. While tabulation of marks scored in an examination by the students of a class, by mistake

the marks scored by one student got recorded as 93 in place of 63, and thereby the average
marks increased by 0.5. What was the number of students in the class?

Udh Hell & BT g1RT WRIET H Ut fbu 77 3fhl &I diferdt g4rd F9d, Tedl A b BT gRT 9T fbu U
3Pl BT 63 & W W 93 form fRan mar, g aRvmaase bl & fd # 0.5 &1 gfg &1 T8 | Ferm #
faenferal &1 G fhar ofi?

(a) 20 (b) 60 (c) 30 (d) 15




Q. The average of n observation is 40. If one observation of value 80 is

added, then the average of all the observation is 41. What is the value of
n?y

n GAdRIUT T 39T 40 & | Afe v wRideror foradT |19 80 &, wnfAer fbar Sirar & o ) wideton &1 3ird
41 B ST & | n &1 {19 ST HIfo1e |

(a) 43 (b) 38 (c) 40 (d) 39




Q.

In a 20 over match, the required run rate to
win 9.4 per over. If the run rate is 7 at the end
of the 15" over. The required run rate to win

the match 1s

20 3= & "9 ¥° Sia & faw 9.4 @ =1 wfq e 3Ha
=1few | Ife 159 3o % 374 § STRI @ & 7 &, o a4

fou smavas T 39| F+H
(A) 16 (B) 17.6
(C) 16.6 (D) 20



Q, The average of 8 numbers is 20. The average

1

of first two numbersis 15 5 and that of the next

1
three is 21 3 [f the sixth number be less than

the seventh and eight numbers by 4 and 7 re-
spectively, then the eighth number is:

8 HEET =1 3THa 20 T | U9H o TEsTl =1 379d 15%
ST 37T a9 Sl 1 S 21% 2 | Ife =3t 9=,
74 37T 81 T | FHHAI: 4 3R 7 FH T, a1 83T [ F
L

(A) 18 (B) 22

(C) 25 (D) 27



Q.

A batsman has a certain average of runs for 12
innings. In the 13th inning he scores 96 runs
thereby increasing his average by 5 runs. What
will be his average after 13th inning?

et aectars =1 12 wifEl =1 v fAfvea sitea 21 13-4
Tt H 9% 96 T 91 ¢ | Foes ver sima | 5 @ # af s
TSIt € | 13-31 91 3 Are SHE 3TEa #7420

(A) 28 (B) 32
(C) 36 (D) 42



Q. Arya Raj was asked to find the average of N con-
secutive natural numbers starting from 1. By
mistake, he forgot a number. As a result, he

obtained a wrong average of 35ﬁ' So which

number he forgot?

3T TS &l 1 | Y& & arelt N TR W iaF SEsti
3TEa g&1 % ToTu a1 51T €, 7ot o 9 U 9 Fl
T | ROTHEEY S e 34 351% 9T B, a1 9%
- T & T ?

(A) 4 (B) 3

(€) S (D)7



Q. The bowling average of a bowler in certain
match is 27 runs per wicket. If he takes 6 wick-
ets for 60 runs in his next innings then its bowl-
ing average becomes 25 runs per wicket. Find
the wickets taken by him till last inning.

ot Tigarst =1 3irea 27 @ ufa fare ® | 3t g st
# 60 T T 6 Tawe oar & | fou fop saam sia 25 @
FL |

(A) 50 (B) 51

(C) 45 (D) 42



Q. In a particular week the average number of
people who visited the Taj Mahal is 40. If we
exclude the holidays then the average is in-
creased by 16. Further if we exclude also the
day on which the max. number of 112 people
visited the Taj Mahal then average becomes
42. The number of holidays in the week 1s:

et fagm T | a9 wed <@ ard Al 1 STEa 40 7 |
afe gfezal #t g1 €, at 3iEa 16 9g a1 € | afc g9 39
fe =t ot g1 2, o feq sifopem 112 & s 9, @
3T 42 T S € | HE@TE § gieedl #i G FnE ?

(A) 2 fe= (B) 5 fe=

(C) 4fE= (D) 3 f&=



Q. The average weight of P, Q and R is 71 kg. If
the average weight of P and Q be 66 kg and that
of Q and R be 76.5 kg, then the weight (in kg) of
Q 1s.

P, Q 3R R = 3itda ao= 71 fFn. 8 13f€ P 3R Q =
A a9 66 T 3R Q 3iR R = 3719d a1 76.5
fFm g @ Q w1 asH (fFm. #) fwangm ?

(A) 60 (B) 72

(C) 81 (D) 75



Q. There are 30 workers in a factory. If the num-
ber of workers increased by 10, then the total
wages increases by < 9000 per day while the
average wages per worker decreases by < 75.
Find the original total wages of factory.

fordt ™ § 30 Horg FH F €1 10 "Gl F SR
e & i J wfafes =1 Fa gogd T 9000 =g I © |
e wfa woTeR 3itea wergd T 75 9 21 9t €, a1 FREm
H HTH FLA A6 AOIGU il Hel Hoell 41 o ?

(A) 42000 (B) 40000

(C) 36000 (D) 34000



Q. In an exam, the average marks obtained by
John in English, Maths, Hindi and Drawing
were 50. His average marks in Maths, Science,
Social Studies and Craft were 70. If the aver-
age marks in all seven subjects is 58, his score
in Maths was

U Uden |, S % 37ush, v, et i erEh | e
g 50 o | 39 o, o, sae-fasm aon wwe |
3T w70 9 | FfE ST & 9t 7 faua & urare
3TTHd 58 @1, & 1 0 = Wik fohae o ?

(A) 50 (B) 52
(C) 60 (D) 74



Q. Liberty get profit 3% on 1/4 of invest and 5%
profit on 2/3 part of invest and get 11% on re-
maining part of invest. Find the average profit
on total invest.

fefaret STTt e =T ST TR 3% T WTE I €, ST A
fereTs ISt 9 5% oY W FHIAT & a4 TT W 11% T I
AT T | ST Fel IoT TR ST T F0q HI 2

(A) 7% (B) 3%

(C) 5.5% (D) 5%



Q. The average age of a husband and wife, who
were married 7 years ago, was 25 years at the
time of their marriage. Now, the average age

of the family, including husband, wife and a
child, born during the interval, is 22 years.

What is the present age of the child ?

ufa TR I, Toran faame 7 949 vea got o1, & 3itea 31y
forame & w93 25 9 ot | 319 9fER Fi sima o1y e v
o= ST <19 59 3TaUeT | gaT, «t miHe e 22 a9 gl
=4 Tl FAHM S F19 FR

(A) 4 yrs. (B) 3 yrs.

(C) 2 yrs. (D) 6 yrs.



Q. An elevator can carry maximum of 16 passen-

gers with an average weight of 80 kg. however,
four boys more than the maximum carrying

capacity of the elevator entered it making the
average weight as 86 kg and overloading the
elevator, what 1s the average weight of those
four boys ?

u fere 80 Fam. ira v wfea siftrras 16 =t =l &
ST THAT T | ETEANF e &1 &amar ¥ s1fes wR o |9n
= feTe # wa eh 39 3itea v =i 86 fFm. s
T ST ToTe =1 STrates # od € | 39 91 aSHl #1 374
YR 1 B ?

(A) 112 kg (B) 108 kg

(C) 110 kg (D) 98 kg



Q. In dance class, the average age of all the members was 54.5
years, 11 members left the class and 7 new members joined.

If the average age increased by 3 years and the total age
decreased by 140, what was the number of members in the
class initially?

Ja e #, ot aewl § offaa oy 54.5 ad o, 11 Gt 3 e
Big § ok 7 g wew ufAe gyl o sftwa amg & 3 wre 1 3fZ
&% 3R et 3w 140 @ T B 77, ot O o e & wawdl i G

& 1?7
(a) 56 (b) 32

(c) 41 (d) 30



Q. Alibrarian purchased 60 story books for his li-
brary. But he found that he could get 4 extra
books by spending Rs 336 more and then the
overall average price per book would be reduced

by Re 1. The previous average price of each book
was

UF TR I [T & U 60 FeHt F: T
Tlied © | A4 39 91 &l © % afc 7% T 336 R a4
FTA1 € A1 a8 4 STfaiia T 9 T TFal € SR T F A
W 9fq TEF i 99T SEd BEd < 1 FH & S | 9w
TSTF 1 9E Fi 3Hd HIHEG qaqrz |

(A) Z 84 (B) T 83
(C) T68 (D) Z 100



(Q. The number of students in a class is 75, out of
which 33%% are boys and the rest are girls. The
average score in mathematics of the boys is
66§% more than that of the girls. If the average

score of all the students is 66. then the average
score of the girls is:

U H&TH BT B HSAT75 &, mﬁﬂaa-ooasﬁi%aﬁ?
Mwﬁfm%mﬁ%nﬁmﬁmwmaﬂ
g & 66-% 3T 81 afg Wl ol 1 s @R 66 2,
at arsfeal &1 3fHd TR &:

(a) S8 (b) 55
(c) 52 (d) 54



Q. The average age of 30 students of a class is 14
vears 4 months. After admission of S new stu-
dents in the class the average becomes 13 years
9 months. The youngest one of the five new stu-
dents 1s 9 years 11 months old. The average age
of the remaining 4 new students is.

U 1 % 30 Bl FI SA19a g 14 99 4 91F T | SH FaT
H 5 U B F WAV A F 9% 36T 13 99 9 HE T a1 |
99 U B § 999 B BE 9 T4 11 HE FE | W9 4 U
BE i 3T A A € 2

(A) 13 years 6 months/ 13 94 6 HIE
(B) 10 years 4 months/ 10 94 4 H1E
(C) 11 years 2 months/ 11 34 2 |18
(D)12 years 4 months/ 12 a4 4 HE



Q. The average score of 42 students in a test is 69. The ratio of the number

of boys to that of girls is 10 : 11. The average score of the boys is 20%

more than that of the girls. The average score of the boys is:

U uNer H 42 faenfoial @ 3id uidie 69 & | TShl Ol T BT dsfhal & W&r W AUId 10 11
2| dedl & 3iRd Urdid dsfdal & uraial & qa- # 20% 3if0d 2| dsdl & iRd Uddid Sid
GAINI

(a) 73.5 (b) 75.2 (c) 82.8 (d) 75.6




Q. While tabulation of marks scored in an examination by the students of a class, by mistake

the marks scored by one student got recorded as 93 in place of 63, and thereby the average

marks increased by 0.5. What was the number of students in the class?

U Hell & B gRT G H g fde v 3fdp] &) diferdt g91d 99, Tadl A Ud B gRI Ui fhu v
il Bl 63 & VI YR 93 forg feam 1, Rrad uRumRawt il & iad d 0.5 @ gfe 81 715 | wen o
faenfeay @ wver fhas 2

(a) 20 (b) 60 (c) 30 (d) 15




Q. The average weight of some students in a class was 60.5 kg. When 8 students, whose
average weight was 65 kg, joined the class, then the average weight of all the students
increased by 0.9 kg. The number of students in the class, initially, was:

U dhell § oo fAefiay &1 sid a9 60.5 fbell 2 | Sid 65 fdbur itdd o ard 8 faenfe] dwen # i
gld &, a9 il faenfRial @ siad aw 4 0.9 fbur @ gfs; &1 Sirchl 21 den # faenfial & s dwan
fahari ef?

(a) 32 (b) 37 (c) 42 (d) 40



Q. The average of n numbers is 58. If each of 65%
of the numbers is increased by 16 and each of
the remaining numbers is decreased by 9, then
the new average of the numbers:

n H&ATHT &1 3itaa 58 ¥| I 65% HEATHT A F T AF FE&AT
A 16z R aw R ATFEm i A T T RS A d 9 Herfjw

ST AT EAT3T &1 4471 3 d FT 89m?

(a) 67.125  (b) 64.75
(c) 65.25 (d) 66.5



Q. The average of 33 numbers is 74. The average of
the first 17 numbers is 72.8 and that of the last
17 numbers is 77.2. If the 17 number is
excluded, then what will be the average of the
remaining numbers (correct to omne decimal
place)?

33 §EA3AT &1 3Ea 74 81 Uger 17 H&AHAT &1 3w
72.8 ¥ 3T faw 17 Gt &1 Awa 77.28 I 17
WEAT T qE @7 74T ¢, O AW FEATHT &7 AHwa (v

ZIHAT T & T |gY) F7 g
(a) 72.9 (b) 71.6
(c) 70.8 (d) 73.4



Q. The average of 18 numbers is 37.5. If six
numbers of average x are added to them, then
the average of all the numbers increases by one.
The value of x is:

18 WA &1 AtEd 375 2| afy 6 &A™ TSIl

tad x @ Y 99wt wEway § oter wrar @,

gl @ 3td & 1 B derady & Wrdl 281 X BT q4H
201 ¥

(a) 42 (b) 40

(c) 38.5 (d) 41.5



Q The average weight of the students in a group
- 75.4 kg. Later on, four students having weights
72.9 kg, 73.8 kg, 79.5 kg and 87.4 kg joined the
group. As a result, the average weight of all the
students in the group increased by 240 gm. What
was the number of students in the group
initially?
UF FHE A Rgaidar 1 3itua 391 75.4 kg 4T| 915 & 72.9
kg, 73.8 kg, 79.5 kg 3T 87.4 kg ToTeT ATt 4 fAgardt G A
AR B 1T | IROTHATFTET, HHE & Wl fagar @t &1 sitwa
qoTel 240gm TG IAT| YR A FAF A RIEAT $r wEa

EGGIE!
(a) 46 (b) 36
(c) 50 (d) 48



Q. The average weight of L, M and N is 93 kg. If the
average weight of L. and M be 89 kg and that of

M and N be 96.5 kg, then the weight (in kg) of M
is

L,Mam.N“ﬂmamgsm.%luﬁLsm
M &1 3ta 9o 89 f&ur. 3k M aor N &1 3t

gud 96.5 fdur. 2 @ M &1 au+ faT.
g |
(a) 92 (b) 86

(c) 101 (d) 95






